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Figure 12 A large force is required
10 3pit a log in two. But with the use

of a wedae, a small force is multi-
pled to do the job.
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A zipper is another device that depends on the wedge. Haye

you ever tried to interlock the two sides of a zipper with your
hands? It is almost impossible to create enough force with yoyr -
fingers to join the two rows of teeth. But when you close a Zipper,
the part that you pull contains small wedges that multiply your
input force. The result is a strong output force that either cloge
or separates the two sides of the zipper.

Figure 13 You have probably
never given much thought
to the zippers on your
clothes. But zippers use
wedges 1o push the
two sides together,
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